
 

Which of the following crops is a Rabi crop? 
A. Rice​
B. Maize​
C. Wheat​
D. Cotton​
 
Answer: C. Wheat 
 
Green Revolution in India was started in the year: 
A. 1947​
B. 1966​
C. 1972​
D. 1955​
 
Answer: B. 1966 
 
Urea contains what percentage of Nitrogen? 
A. 46%​
B. 26%​
C. 35%​
D. 14% 
 
Answer: A. 46% 
 
Father of Indian Green Revolution is: 
A. Verghese Kurien​
B. M.S. Swaminathan​
C. Norman Borlaug​
D. Rajendra Prasad​
 
Answer: B. M.S. Swaminathan 
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pH value of neutral soil is: 
A. 3​
B. 5​
C. 7​
D. 9​
  
Answer: C. 7 
 
Which part of the plant is responsible for photosynthesis? 
A. Root​
B. Stem​
C. Flower​
D. Leaf​
 
Answer: D. Leaf 
 
Soil fertility is reduced by: 
A. Organic farming​
B. Crop rotation​
C. Monocropping​
D. Mixed cropping​
 
Answer: C. Monocropping 
 
Which of the following is a biofertilizer? 
A. Urea​
B. Rhizobium​
C. DAP​
D. Ammonium nitrate​
 
Answer: B. Rhizobium 
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Krishi Vigyan Kendra (KVK) is related to: 
A. Rural employment​
B. Farmer training​
C. Dairy development​
D. Fishing​
 
Answer: B. Farmer training 
 
The process of growing two or more crops together is called: 
A. Monoculture​
B. Mixed farming​
C. Intercropping​
D. Polyhouse​
  
Answer: C. Intercropping 
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